2021 (%#3) £&

BAEHHEA PR
— XA F IR R

w

I8 1

FRER

[%105]

(1]

(1) (1+4)*=1+30+3i%+4°
=1+3i-3-i
=242

3+4i  (3+47) (1-24)
1420 (1+24)(1-20)
~ 3—6i+4i —8i”
S 14
1124
5

@)

—2+2i

11-2¢

[2]

log,, 24
log ;5

log.24 =

o

10g1023 +log,,3
~ log,,10~-log,,2
3log,,2+log,,3
~ log, 10— log, 2
3a+b

1-a

3a+b

— 143 —



2021 (£f13) & e

(1) MIES8, %#E—-6 &£V
a,=8+(n—-1) - (=6)

- omrld @ = —6n+14
[3] -
© S:n{8+( 6n +14)}
n 2
=n(11=3n) S, =n(11-3n)
< 1 > BRLEBESAEE(ZE
(1) 5T o HAH 2R % rOT,
FTRTOHEHMNS LT ORI
5.5 .5 _1% 12
6 6 6 216 o

[4]

4 04 4 _ 8

6 6 6 27
FTRTOHPSUTOMEELLTXTOHED 4L TOMELTIC &
MKMEDS5 THAHMERIZHELDT

125 8 _ 61 61
216 27 216 216

< 2 > ERULIEESZECZLE
2 1
X y
2y +x=xy

xy—x—2y=0

xy—x—2y+2=2

(x-2)(y-1) =2

x, yIXEELOT, x-2, y—-1bES
x-2y-1=21), 1,2, (=2 -1), (-1, —2)
XoT

(x,y)=04,2),3,3),0,0), 1 -1)

x#0, y*0%2DT

(x,y)=04,2),3,3), 1 -1)
(x,y)=04,2),3,3),d, -1)

— 144 —




2021 (wH#13) FE& &—ﬁﬂaﬁxﬁ;ﬁ?&gﬁ?

M8 2 (11123 [2] 81

y=-3x*(x-1)

= —3x3+3x?2
y'=-9x%+6x

=-0x (x - %)
BWEFEIROL IR D,

fx) - 0 +

@‘yp o w‘m
|

[1] f(x) N 0 /!

] =2 prx fkis

4
9
-2+ x=00Dk X B/ME 0

y==-3x2(x—1) OFF7Lxlil DA EOxEEIL
-3x%2(x—1)=0
x=0,1

S= j1—3x2(x—1)dx
0

1
[eer]

[2]

‘rb‘»—‘

— 145 —




2021 (HfM3) £&

BPFHHEAFER
— XA R R

fBIRE 3 (1154 [2]15:%
M2+ y2=40OWF & EARy =00 RO I@EER 5 TH 5,
72721, B EED
A
3_
[1]
1 1 x\
3 -2 -1 O 1 2 3
_l_
72_
_3_
2x+y:kk‘j—z)o
y=—2x+EDHEED LIEGEEELOL X,
EFOMBEDR /NN DL (=2,0) 2#8AE XL DT,
k=-4+0=-4
ROMEVRKIZR LD ERy =-2x+ kL ul
Hx2+ y2=40453 5 L XD T,
x4+ y2i=4
[2] y=-2x+tk

x2+ (=2x +k)?=4
5x2—4kx + k?~4=0
D/)=akz-5(k2-4)=0& Y
k2=20
k=%2J5
75750 k=25

— 146 —



2021 (wH#13) FE& &—ﬁﬂaﬁxﬁ;ﬁ?&gﬁaﬁ

M 4 [1]1[2]1%54 [3]110%

cos75° = cos (45° + 30°)

cos45° cos30° — sin45° sin30°
V3 1 1

1
2 2 2
V3-1

(1]

JE-1Z

a-b=1allb|cos?5
e T

[2] 6-273

5

AB=|b-al?
~|bl2-24 - b+ al®
=6-2(3-Y3)+4
=4+2V3

[3] | AB>0&Y

AB=/4+273
=/(/3+1)2

=V3+1

— 147 —




	表1
	表3 - コピー
	目次～入試問題
	解答～概要
	表3
	表4

